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One who sends. The w3 that I gave you is annulled.

OVERVIEW

There is a P51 in the 'R13 between 3"aw1 27 if one was Y21 a v in 73,
not WX MW °192. 927 maintains that it is 502 and 3"2w maintains the 3 is
not Hv2. Our MmooIn will reconcile the mwn (even) according to °2.

mdoIN mentions an anticipated difficulty:

— D012 15V HNINT 2245
According to 31 who says later in the X3, if he nullified the v) in front of
a 7" 2 the v3 is voided, even though it was not voided in the presence of the m>w or
the 7wX; why does the miwn state that if he was van the v in the presence of the m5w or

the WX, only then is it 012n? According to °27 it is 70121 even if it was done 7"°2 *192 and
not MW WK 191!

mooIn responds:
= 1950235 NIN 9299 1DVAY 99N INT RNDINT RNIN NYIYA YN VD)

The xi1n mentions that ‘he met up with the m»w’, for that is the usual
manner in which one is 7021 a v, for then when he is in the presence of the

(7wRY) 7w he is permitted to be Hvan the vi and it is usual that he is Swan

the v3 in the presence of the (7WXY) 7w
- 59913 139 NIPN DIVN 111 19VAY NOR NYYYAN 5193 XYY 171 513 393 YaN

However in the presence of a 7'"72 only, not in the presence of the mbw it
is Rabbinically prohibited to be ®wan the v, on account of the mpn

instituted by 3''9, that no one be 5van a v, if it is not (7WXM) mM>wn *102. Therefore
such a 712 would be unusual, for one would not want to act contrary to the 71pn of A".
The 71wn therefore does not mention it.

mooIn gives another answer:
— 197 %2 298 PR RNYNT NYIYA YN VP NI
And furthermore the Xin mentions 'mbwsa poa1' specifically to teach us

that now °%wn °192, a 7"'>2 is not required for the v %1v°3; it can be done in the
presence of the m5w (alone?).

LRa9 7.
2 See "1 17"7 8,32 ' if there is a need for 0°7v when he is 9w *192 02N
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mooIn offers another solution:
= N2 12299R79 1219210 NP NIIYED 13990N NDT 1999MYUND NNNX NI NN 99) ON

or we can say that the Xin is coming to teach me this case of m5w2 ¥°37 in
particular; that even then when he just ‘happened’ to meet the m>w, it is a
proper 72, We do not say that his intention is merely to torment her,
but not to be van the vx as we will shortly say in the *X7%3. We do not make
this assumption; rather it is a proper 710°2, even when he just happened to meet the m>5w.
— 50 XIN IND Y22 NPITT 19 N9
But it is not the intention of the 7iwn to say that only in these

circumstances is the “»ua v3. Rather the intention of the 71w» is that even under
these circumstances the v is 2v2. It will certainly be (723°72) 021 if it was done 7"2 °192,
where there is no X720 of ™21 Xp XNWLH.

SUMMARY

According to *27 who maintains that a 7"°2 °192 511 is valid; there are three
reasons why the 73w only mentions 2w °192 91002,

A. Tt is usual to be Pvan a 5w 102 vi for that is permitted; however °192
71 it is prohibited (7%°1n3Y).

B. There is a w171 when the 2102 is 7°%wi °193; no 71 is required.

C. Even m%wi *192 the 91002 is valid; we do not say 1191 Xp R7Wwx5.

THINKING IT OVER

1. It would seem that the last answer of mM»d01n is identical with what the X713
says, that we do not say 127 Xp X2, Why then was there a question in the
first place?’

2. The phrase "121 X177 917 X2 at the conclusion of Moo is that referring
to all the answers of N1vOIN, or only to the last answer?°

3. What are the various advantages of the different 2°x17°n of m»doIN?

? See “Thinking it over’ #1.
* See “Thinking it over #2.
> See 2py> NIRON.
% See w"XT MOOMN.
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